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Vo c ê  já  e s t u d o u  c o m o  f a z e r  o s  c á lc u lo s  p a r a
e n c o n t r a r  a s  p r in c ip a is  m e d id a s  p a r a  a  c o n f e c ç ã o  d e  u m a  e n g r e n a g e m  c ilín d r ic a
d e  d e n t e s  r e t o s .

Va m o s  s u p o r , e n t ã o , q u e  s u a  p r ó x im a  m is s ã o  s e ja  ju s t a m e n t e  f r e s a r  u m a
e n g r e n a g e m  ig u a lz in h a  à q u e la  q u e b r a d a , c u ja s  m e d id a s  a c a b a m o s  d e  c a lc u -
la r  ju n t o s .

P a r a  is s o , v o c ê  s a b e  q u e  p r e c is a  u s a r  u m  a p a r e lh o  d iv is o r  e  q u e  é  n e c e s s á r io
f a z e r  t a m b é m  a lg u n s  c á lc u lo s  p a r a  d e s c o b r ir  o  n ú m e r o  d e  v o lt a s  d a  m a n iv e la
p a r a  o b t e r  c a d a  d iv is ã o  d a  e n g r e n a g e m .

Vo c ê  s a b e r ia  r e a liz a r  e s s e s  c á lc u lo s ?   S e  v o c ê  a c h a  q u e  n ã o , c h e g o u  a  h o r a
d e  a p r e n d e r .

O  a p a r e l h o  d i v i s o r

O  a p a r e lh o  d iv is o r  é  u m  a c e s s ó r io  d a  f r e s a d o r a  q u e  p e r m it e  f a z e r  a s  d iv is õ e s
d o s  d e n t e s   d a s  e n g r e n a g e n s . P e r m it e  t a m b é m  f a z e r  f u r o s  o u  r a s g o s  e m  o u t r o s
t ip o s  d e  p e ç a s , a lé m  d e  p o s s ib ilit a r  a  f r e s a g e m  d e  r a n h u r a s  e  d e n t e s  h e lic o id a is .

No r m a lm e n t e , o  a p a r e lh o  d iv is o r  t e m  u m a  c o r o a  c o m  40  o u  6 0  d e n t e s ; t r ê s
d is c o s  d iv is o r e s  q u e  c o n t ê m  v á r ia s  s é r ie s  d e  f u r o s  e  u m a  m a n iv e la  p a r a  f ix a r  a
p o s iç ã o  d e s e ja d a  p a r a  a  r e a liz a ç ã o  d o  t r a b a lh o .

Co n f o r m e  o  n ú m e r o  d e  v o lt a s  d a d a s  n a  m a n iv e la  e  o  n ú m e r o  d e  f u r o s
c a lc u la d o , o b t é m - s e  o  n ú m e r o  d e  d iv is õ e s  d e s e ja d a s .

A s s im , s e  a  c o r o a  t e m  40  d e n t e s , p o r  e x e m p lo , e  s e  d e r m o s  40  v o lt a s  n a
m a n iv e la , a  c o r o a  e  a  p e ç a  d a r ã o  u m a  v o lt a  c o m p le t a  e m  t o r n o  d e  s e u  e ix o .
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P o r é m , o  n ú m e r o  d e  d e n t e s  d a  e n g r e n a g e m  a  s e r  f a b r ic a d a  n e m  s e m p r e

c o r r e s p o n d e   a  u m a  v o lt a  c o m p le t a  n a  m a n iv e la . D e p e n d e n d o  d a  s it u a ç ã o ,
v o c ê  p o d e  t e r  d e  d a r  m a is  d e  u m a  v o lt a  e  t a m b é m  f r a ç õ e s  d e  v o lt a  p a r a  o b t e r
o  n ú m e r o  d e s e ja d o  d e  d e n t e s .

P o r  e x e m p lo , s e  q u e r e m o s  f r e s a r  u m a  e n g r e n a g e m  c o m  2 0  d e n t e s  , o  m a t e r ia l
d e v e r á  s e r  g ir a d o  

�
� �  d e  v o lt a , p a r a  a  f r e s a g e m  d e  c a d a  d e n t e . E n t ã o , s e  o  a p a r e lh o

d iv is o r  t e m  u m a  c o r o a  d e  40  d e n t e s , e m  v e z  d e  d a r  40  v o lt a s  n a  m a n iv e la , s e r á
n e c e s s á r io  d a r  

� �
� �  d e  v o lt a s . I s s o  s ig n if ic a  2  v o lt a s  n a  m a n iv e la  p a r a  c a d a  d e n t e

a  s e r  f r e s a d o .

C á l c u l o  d o  a p a r e l h o  d i v i s o r

T e n d o  e s t a b e le c id o  a  r e la ç ã o  e n t r e  o  n ú m e r o  d e  d e n t e s  d a  c o r o a  e  o
n ú m e r o  d e  d iv is õ e s  d e s e ja d a s , f ic a  f á c il m o n t a r  a  f ó r m u la  p a r a  o  c á lc u lo  d o
a p a r e lh o  d iv is o r :

����� 	


E m  q u e  VmVmVmVmVm  é  o  n ú m e r o  d e  v o lt a s  n a  m a n iv e la , CCCCC é  o  n ú m e r o  d e  d e n t e s  d a
c o - r o a  e  NNNNN é  o  n ú m e r o  d e  d iv is õ e s  d e s e ja d a s .

S u p o n h a m o s , e n t ã o , q u e  v o c ê  t e n h a  d e  f r e s a r  1 0  r a n h u r a s  ig u a lm e n t e
e s p a ç a d a s  e m  u m a  p e ç a  c ilín d r ic a  u s a n d o  u m  d iv is o r  c o m  c o r o a  d e  40  d e n t e s .

O s  d a d o s  q u e  v o c ê  t e m  s ã o : C =  40  e  N =  1 0 . M o n t a n d o  a  f ó r m u la , t e m o s :

����� � �
 �
� �

= �
E s s e  r e s u lt a d o , Vm  =  4, s ig n if ic a  q u e  v o c ê  p r e c is a  d a r  4 v o lt a s  c o m p le t a s  n a

m a n iv e la  p a r a  f r e s a r  c a d a  r a n h u r a .

P a r a  a ju d a r  v o c ê  a  t r e in a r  e s s e  c á lc u lo , p r e p a r a m o s  e s t e  e x e r c íc io .

E x e r c íc io  1E x e r c íc io  1E x e r c íc io  1E x e r c íc io  1E x e r c íc io  1
Q u a n t a s  v o lt a s  n a  m a n iv e la  v o c ê  p r e c is a r á  d a r  p a r a  f r e s a r  u m a  e n g r e n a g e m
c o m  40  d e n t e s , s e  a  c o r o a  d o  d iv is o r  t a m b é m  t e m  40  d e n t e s ?
S o lu ç ã o :

C =  40
N =  40
Vm  =  ?
Vm  =

T e n t e  v o c ê
t a m b é m
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D i s c o  d i v i s o r

Ne m  s e m p r e  o  n ú m e r o  d e  v o lt a s  é  e x a t o . Ne s s e  c a s o , v o c ê  t e m  d e  d a r  u m a
f r a ç ã o  d e  v o lt a  n a  m a n iv e la  e  o  q u e  a ju d a  n e s s a  o p e r a ç ã o  é  o  d is c o  d iv is o rd is c o  d iv is o rd is c o  d iv is o rd is c o  d iv is o rd is c o  d iv is o r .

O  d is c o  d iv is o r  é  u m  d is c o  c o m  u m a  s é r ie  d e  f u r o s  q u e  p e r m it e m  a  o b t e n ç ã o
d e  f r a ç ã o  d e  v o lt a s .

E m  g e r a l, u m  a p a r e lh o  d iv is o r  t e m  t r ê s  d is c o s  c o m  q u a n t id a d e s  d if e r e n t e s
d e  f u r o s  ig u a lm e n t e  e s p a ç a d o s  e n t r e  s i. B a s ic a m e n t e , a s  q u a n t id a d e s  d e  f u r o s
e x is t e n t e s  e m  c a d a  d is c o  s ã o  a s  m o s t r a d a s  n a  t a b e la  a  s e g u ir .

D I S CO SD I S CO SD I S CO SD I S CO SD I S CO S F U R O SF U R O SF U R O SF U R O SF U R O S

1 1 5 1 6 1 7 1 8 1 9 2 0
2 2 1 2 3 2 7 2 9 3 1 3 3
3 3 7 3 9 41 43 47 49

E s s e s  n ú m e r o s  s ig n if ic a m , p o r  e x e m p lo , q u e  o  d is c o  1  t e m  6  c ir c u n f e r ê n c ia s
c o n t e n d o  r e s p e c t iv a m e n t e , 1 5 , 1 6 , 1 7 , 1 8, 1 9  e  2 0  f u r o s  ig u a lm e n t e  e s p a ç a d o s . O
m e s m o  r a c io c ín io  s e r v e  p a r a  o s  o u t r o s  d is c o s .

C á l c u l o  p a r a  o  d i s c o  d i v i s o r

A  fó r m u la  d o  c á lc u lo  p a r a  o  d is c o  d iv is o r  é  a  m e s m a  d o  a p a r e lh o  d iv is o r :

����� 	


Va m o s  t e n t a r  f a z e r  u m  e x e m p lo  d e  c á lc u lo  e  v e r  o  q u e  a c o n t e c e .
I m a g in e  q u e  v o c ê  d e s e je  f r e s a r  u m a  e n g r e n a g e m  c o m  2 7  d e n t e s , u t iliz a n d o

u m  a p a r e lh o  d iv is o r  c o m  c o r o a  d e  40  d e n t e s . Q u a n t a s  v o lt a s  d e  m a n iv e la  v o c ê
t e r á  d e  d a r ?

Va m o s  a p lic a r  a  f ó r m u la :

����� 	
 =
� �� �        o u 40   2 7

1 3    1
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A  d i v i s ã o , c o m o  v o c ê  v i u , n ã o  f o i  e x a t a . Vo c ê  t e m  c o m o  r e s u l t a d o  1 ,

q u e  é  a  q u a n t i d a d e  d e  v o l t a s  n e c e s s á r i a s  à  r e a l i z a ç ã o  d o  t r a b a l h o . O  q u e
f a z e r  c o m  o  r e s t o ?

O  r e s t o  d a  d iv is ã o  ( 1 3 )  r e p r e s e n t a  o  n ú m e r o  d e  f u r o s  a  s e r e m  a v a n ç a d o s  n o
d is c o  d iv is o r .

M a s  q u e  d is c o  é  e s s e ?  E le  é  in d ic a d o  p e lo  n ú m e r o  2 7 , c o r r e s p o n d e n t e , n e s t e
c a s o , a o  n ú m e r o  d e  d e n t e s  d a  e n g r e n a g e m .

E n t ã o , v o c ê  d e v e  “ le r ”  o  r e s u lt a d o  d e s s e  c á lc u lo  d a  s e g u in t e  f o r m a : p a r a
f r e s a r  u m a  e n g r e n a g e m  d e  2 7  d e n t e s , v o c ê  d á  u m a  v o l t a  c o m p l e t au m a  v o l t a  c o m p l e t au m a  v o l t a  c o m p l e t au m a  v o l t a  c o m p l e t au m a  v o l t a  c o m p l e t a  n a  m a n iv e la
e  a v a n ç a  1 3  f u r o s1 3  f u r o s1 3  f u r o s1 3  f u r o s1 3  f u r o s  n o  d is c o  d e  2 7  f u r o s2 7  f u r o s2 7  f u r o s2 7  f u r o s2 7  f u r o s .

Va m o s  p r o p o r  a g o r a  m a is  u m  p r o b le m a : s u p o n h a  q u e  v o c ê  t e n h a  d e  f r e s a r
u m a  e n g r e n a g e m  c o m  43  d e n t e s  e  o  a p a r e lh o  d iv is o r  d e  s u a  m á q u in a  t e n h a
u m a  c o r o a  c o m  40  d e n t e s . Q u a n t a s  v o lt a s  d a  m a n iv e la  s e r ã o  n e c e s s á r ia s  p a r a
r e a liz a r  a  t a r e f a ?

A p lic a n d o  a  f ó r m u la , t e m o s :  
����� �������������α φ

������� �"!#�α φ
Co m o  o  r e s u lt a d o  d e s s a  d iv is ã o  n ã o  d á  u m  n ú m e r o  in t e ir o , is s o  s ig n if ic a  q u e

v o c ê  t e m  q u e  a v a n ç a r  40  f u r o s  n o  d is c o  d iv is o r  d e  43  f u r o s .
E  s e  v o c ê  t iv e r  u m a  q u a n t id a d e  d e  d e n t e s  q u e  n ã o  c o r r e s p o n d e  a o  n ú m e r o

d e  n e n h u m  d o s  d is c o s  d iv is o r e s  d a  s u a  f r e s a d o r a ?
P o r  e x e m p lo , v o c ê  p r e c is a  f r e s a r  u m a  e n g r e n a g e m  c o m  1 3  d e n t e s  e  a  c o r o a

d o  d iv is o r  t e m  40  d e n t e s . O  p r o b le m a  é  q u e  n ã o  e x is t e  u m  d is c o  c o m  1 3  f u r o s .
Co m o  v o c ê  f a z ?

 A  f ó r m u la  c o n t in u a  s e n d o  a  m e s m a , is t o  é ,  
����� 	


S u b s t it u in d o  o s  v a lo r e s :

����� � �
 �       o u 40   1 3
41    3

E s s e  r e s u lt a d o  s ig n if ic a  3  v o lt a s  c o m p le t a s  n a  m a n iv e la  e  o  a v a n ç o  d e  u m
f u r o  n o  d is c o  d e  1 3  f u r o s . M a s , e x is t e  u m  d is c o  c o m  1 3  f u r o s ?  P e la  t a b e la  já
m o s t r a d a , p o d e m o s  p e r c e b e r  q u e  n ã o . Co m o  f a z e r ?

Co m  o  r e s t o  d a  d iv is ã o  ( 1 )  e  o  n ú m e r o  d e  d e n t e s  d a  e n g r e n a g e m  q u e  v o c ê  t e m
d e  f r e s a r  ( 1 3 ) , v o c ê  c o n s t r ó i a  f r a ç ã o  

�
� $ .

P a r a  d e s c o b r ir  q u a l o  d is c o  c o r r e s p o n d e n t e , v o c ê  m u lt ip lic a  o  n u m e r a d o r  e
o  d e n o m in a d o r  d e s s a  f r a ç ã o  p o r  u m  c e r t o  n ú m e r o , d e  t a l m o d o  q u e  n o  d e n o m i-
n a d o r  d e s s a  f r a ç ã o  a p a r e ç a  u m  n ú m e r o  d e  f u r o s  q u e  s e ja  d e  u m  d is c o  q u e
r e a lm e n t e  e s t e ja  n a  t a b e la .

A s s im , s e  v o c ê  m u lt ip lic a r  o  n u m e r a d o r  e  o  d e n o m in a d o r  d e s s a  f r a ç ã o  p o r
3 , t e r á  a  f r a ç ã o  e q u iv a le n t e  

$&% ')( *,+β γ$.-0/21 +43 *,+β γ
. E la  s ig n if ic a  q u e  v o c ê  d e v e  a v a n ç a r  3  f u r o s

n o  d is c o  d e  3 9  f u r o s .

R e c o r d a r  é  a p r e n d e rR e c o r d a r  é  a p r e n d e rR e c o r d a r  é  a p r e n d e rR e c o r d a r  é  a p r e n d e rR e c o r d a r  é  a p r e n d e r
F r a ç õ e s  e q u iv a le n t e s  s ã o  a q u e la s  q u e  r e p r e s e n t a m  a  m e s m a  p a r t e  d e  u m
in t e ir o . P o r  e x e m p lo :

 


� =

2

4
=

4

8

D i c aD i c aD i c aD i c aD i c a
A  f r a ç ã o  e q u iv a le n t e  p o d e  s e r  e n c o n t r a d a  p o r  m e io  d a  d i v i s ã od i v i s ã od i v i s ã od i v i s ã od i v i s ã o      o u  d a
m u l t i p l i c a ç ã om u l t i p l i c a ç ã om u l t i p l i c a ç ã om u l t i p l i c a ç ã om u l t i p l i c a ç ã o  d o  n u m e r a d o r  e  d o  d e n o m in a d o r  p o r  u m  m e s m o
n ú m e r o  in t e ir o .
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É , p a r e c e  q u e  a  c o is a  e s t á  f ic a n d o  u m  p o u q u in h o  m a is  c o m p lic a d a . Va m o s ,

e n t ã o , f a z e r  a lg u n s  e x e r c íc io s  p a r a  t e r  m a is  s e g u r a n ç a  n e s s e  t ip o  d e  c á lc u lo . E m
c a s o  d e  d ú v id a , v o lt e  a o s  e x e m p lo s  e  à s  d ic a s . E le s  m o s t r a r ã o  o  c a m in h o  d a
s o lu ç ã o  d o  e x e r c íc io .

E x e r c íc io  2E x e r c íc io  2E x e r c íc io  2E x e r c íc io  2E x e r c íc io  2
P a r a  f r e s a r  u m a  e n g r e n a g e m  d e  1 8 d e n t e s , q u a l o  d is c o , o  n ú m e r o  d e  v o lt a s
e  o  n ú m e r o  d e  f u r o s  a  a v a n ç a r , s e  o  a p a r e lh o  d iv is o r  d a  m á q u in a  t e m  u m a
c o r o a  c o m  40  d e n t e s ?
S o lu ç ã o : C =  40

N=  1 8
d is c o  =  ?
Vm  =  ?
f u r o s  a  a v a n ç a r  =  ?

E x e r c íc io  3E x e r c íc io  3E x e r c íc io  3E x e r c íc io  3E x e r c íc io  3
S e  o  a p a r e lh o  d iv is o r  d e  s u a  m á q u in a  t e m  u m a  c o r o a  d e  40  d e n t e s , q u a l é  o
n ú m e r o  d e  v o lt a s  n a  m a n iv e la  q u e  v o c ê  t e r á  d e  d a r  p a r a  f r e s a r  u m a
e n g r e n a g e m  d e  47  d e n t e s ?
S o lu ç ã o : C =  40

N =  47
Vm  =

E x e r c íc io  4E x e r c íc io  4E x e r c íc io  4E x e r c íc io  4E x e r c íc io  4
Ca lc u le  o  n ú m e r o  d e  v o lt a s  n a  m a n iv e la  p a r a  f r e s a r  u m a  e n g r e n a g e m  c o m
3 2  d e n t e s , s a b e n d o  q u e  a  c o r o a  d o  d iv is o r  t e m  40  d e n t e s .
S o lu ç ã o : C =  40

N =  3 2

Vm  =  40

3 2

40     3 2

C á l c u l o  d e  d i v i s ã o  a n g u l a r

E s s e  c á lc u lo  é  r e a liz a d o  q u a n d o  s e  d e s e ja  d e s lo c a r  a  p e ç a  u m  d e t e r m in a d o
â n g u lo , p a r a  f a z e r  d iv is õ e s  o u  u s in a r  r a s g o s .

T e n t e  v o c ê
t a m b é m
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P a r a  f a z e r  e s s e  c á lc u lo , a p lic a - s e  a  s e g u in t e  f ó r m u la :

���
=

	 5 a
� 6 �

E m  q u e  C  C  C  C  C é  o  n ú m e r o  d e  d e n t e s  d a  c o r o a , a é  o  â n g u lo  a  s e r  d e s lo c a d o  e  3 6 0 3 6 0 3 6 0 3 6 0 3 6 0
é  o  â n g u lo  d e  u m a  v o lt a  c o m p le t a .

Va m o s  s u p o r  q u e  v o c ê  t e n h a  d e  f a z e r  d o is  r a s g o s  e q u id is t a n t e s  2 0 °  e m  u m a
p e ç a . Q u a n t a s  v o lt a s  v o c ê  p r e c is a r á  d a r  n a  m a n iv e la  p a r a  o b t e r  o  â n g u lo
in d ic a d o , u m a  v e z  q u e  a  c o r o a  t e m  40  d e n t e s ?

S u b s t it u in d o  o s  v a lo r e s  n a  f ó r m u la :
���

=
� � 5 � �

�76��
���

=

8 ���
�76��

80 0    3 6 0
880     2

P o r  e s s e  r e s u lt a d o , já  s a b e m o s  q u e  v o c ê  t e r á  d e  d a r  d u a s  v o lt a s  c o m p le t a s
n a  m a n iv e la .

M a s , o  q u e  v o c ê  f a z  c o m  o  r e s t o ?
Co m  o  r e s t o  (80 )  e  o  d iv is o r  ( 3 6 0 )  c o n s t r u im o s  a  f r a ç ã o  9

�
$ : �  q u e  s ig n if ic a  q u e

d e v e m o s  g ir a r  80  f u r o s  e m  u m  d is c o  d e  3 6 0  f u r o s . O  p r o b le m a  é  q u e  n ã o  e x is t e
u m  d is c o  d e  3 6 0  f u r o s . P o r  is s o , p r e c is a m o s  s im p lif ic a r  e s s a  f r a ç ã o  a t é  o b t e r  u m
n ú m e r o  n o  s e u  d e n o m in a d o r  q u e  e x is t a  n a q u e la  t a b e la  d e  d is c o s  q u e  já  v im o s
n e s t a  a u la : 8 � ¸ 
 �

��67� ¸ 
 � =
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>8 ��� �"!#�=�α φ
P o r t a n t o , p a r a  o b t e r  u m  d e s lo c a m e n t o  d e  2 0 ° , v o c ê  t e r á  d e  d a r  2  v o lt a s

c o m p le t a s  n a  m a n iv e la  e  a v a n ç a r  4 f u r o s  e m  u m  d is c o  d e  1 8 f u r o s .

O  d e s lo c a m e n t o  a n g u la r  é   b a s t a n t e  c o m u m  n a  a t iv id a d e  d e  u m  f r e s a d o r .
T r e in e  e s s e  c á lc u lo  u m  p o u c o  m a is , p a r a  s e  t o r n a r  u m  b o m  p r o f is s io n a l d a  á r e a
d e  m e c â n ic a .

E x e r c íc io  5E x e r c íc io  5E x e r c íc io  5E x e r c íc io  5E x e r c íc io  5
E m  u m a  p e ç a  c ir c u la r , d e s e ja m o s  f a z e r  5  f u r o s  d is t a n t e s  1 5 °  u m  d o  o u t r o . S e
o  d iv is o r  t e m  u m a  c o r o a  c o m  40  d e n t e s , q u a n t a s  v o lt a s  é  p r e c is o  d a r  n a
m a n iv e la  p a r a  f a z e r  e s s e  t r a b a lh o ?
S o lu ç ã o : ���
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T e n t e  v o c ê
t a m b é m
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D e p o is  d e  e s t u d a r  a  liç ã o  e  f a z e r  e x e r c íc io s , c h e g o u  a  h o r a  d e  t e s t a r  s u a

d e d ic a ç ã o  a o  e s t u d o . Ve ja  o s  d e s a f io s  q u e  p r e p a r a m o s  p a r a  v o c ê .

E x e r c íc io  6E x e r c íc io  6E x e r c íc io  6E x e r c íc io  6E x e r c íc io  6
Q u a l o  n ú m e r o  d e  v o lt a s  n e c e s s á r ia s  p a r a  u s in a r  u m a  p e ç a  c o m  6 0  d iv is õ e s
e m  u m a  f r e s a d o r a  c u jo  a p a r e lh o  d iv is o r  t e m  u m a  c o r o a  c o m  40  d e n t e s ?

E x e r c íc io  7E x e r c íc io  7E x e r c íc io  7E x e r c íc io  7E x e r c íc io  7
Q u a n t a s  v o lt a s  d e v e r ia m  s e r  d a d a s  n a  m a n iv e la  d o  a p a r e lh o  d iv is o r  p a r a
u s in a r  u m  s e x t a v a d o , s a b e n d o  q u e  a  c o r o a  t e m  6 0  d e n t e s .

E x e r c íc io  8E x e r c íc io  8E x e r c íc io  8E x e r c íc io  8E x e r c íc io  8
Ca lc u le  q u a n t a s  v o lt a s  s ã o  n e c e s s á r ia s  p a r a  e x e c u t a r  u m a  p e ç a  c o m  42
d iv is õ e s , s e  a  c o r o a  d o  d iv is o r  t e m  6 0  d e n t e s ?

E x e r c íc io  9E x e r c íc io  9E x e r c íc io  9E x e r c íc io  9E x e r c íc io  9
Q u a n t a s  v o lt a s  u m  o p e r a d o r  d e v e  d a r  n a  m a n iv e la  p a r a  f r e s a r  u m a
e n g r e n a g e m  d e  45  d e n t e s  e m  u m  d iv is o r  c u ja  c o r o a  t e n h a  40  d e n t e s ?

E x e r c íc io  1 0E x e r c íc io  1 0E x e r c íc io  1 0E x e r c íc io  1 0E x e r c íc io  1 0
P a r a  f a z e r  t r ê s  r a s g o s  e q u id is t a n t e s  3 7 °  e m  u m a  p e ç a  c ir c u la r , c a lc u le
q u a n t a s  v o lt a s  d e v e m  s e r  d a d a s  n a  m a n iv e la , s a b e n d o  q u e  a  c o r o a  t e m  40
d e n t e s .

T e s t e  o  q u e
v o c ê  a p r e n d e u


